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wpa = Plot[{Cos[x], x}, {x, -6, 6}, PlotRange » {-6, 6}]
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m1si= Plot[{2 » Cos[x], x}, {x, -6, 6}, PlotRange » (-6, 6}]
6_

2 ~
\\ // I ~ 5
'\\ / L /
\ / i 'LP:& /
\ \ N L L H | . R K.‘ ,%."-__}‘ L . . L 1 " -'{.j;
_ \.\l 2 4/

Oullis)= —= . ! :
-6 N -4 -2/ 'l
\ i |
\\ h : 4 - a4 (:‘)
\ V' - 1

P _2 -

-4

.-/ i b

-6k

Se_pod\o:\re_\ﬁ c L pled &Czscxs = Qaarg tQQOSCK\F\&

omd \veatd = UQ bg Q“\, Thege ary
(XQAIOQX-’Z sds oQ *Q—(KS,

Xy «QOeans Yo ke amsable ohile +ha
peniad) - 2 %Q\Q. £ x| x‘;—\% s stable .



4 |

win= Plot[{4«Cos[x], x}, {x, -6, 6}, PlotRange » {-6, 6}]
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